ZEIZMOZ BOABHZ 11/10/2013

Metd tnv cupmArpwon tou 1°° 24wpou tn¢ akohouBiag tou celopol tng BOABNG (Last
event : 2013 10 11 17:06:03) npoékuPav ta akoAouba:
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Mean magnitude
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Seismicity map

Date: 11/10/2013
Time: 05:15:46

" K m=44

Latitude = 40.6900

Longtitude = 23.4100

40.5° Depth = 4.40 km

Azimuth = 291.95




Along-strike section
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Cross-strike section
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Time distribution
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Space-time disctibution
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fit 48h: y=-0.67 * x + 1.53
fit 48h 95%
Ist: y1=-0.67 * x + 1.77

2nd : y2=-0.67 * x + 1.29

Mean DX =9.02 km
SD =1.13 km
Mean DX + SD = 10.15 km
Mean DX - SD = 7.88 km

L= +2*SD= ~ 4.52 km




